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General Answer Format:

Each Sudoku has two marked rows or M
columns. You need to submit all digits

in the corresponding directions, from
left to right or from top to bottom.

In the example, the two answer keys

are:

1A: 367594218
1B: 283749165

All puzzles will use digits 1-9 in the

submission.
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1-5 Classic Sudoku
Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 3x3 box
contains each digit exactly once.

Example Solution

1]8] [2]4 5/971[86[2[4]7 3
6 9 1 36 7|5 9/4]|2]1 8
8 9 gl2 4|17/3]|6/5 9
1 9 8 5 6 1]3/2]9/8[5[71476
4] 3] 7] |8 6|4/ 5|3 1/7|9]|8 2
9 412 6 1 9/7/8l4 2/6|5|3 1
7 4 715796 3]1[8/274
8 4 6 2183|7 4|/9]1]6 5

6|2 8|3 411 6|2/5/8|3/9 7

6 Diagonal Sudoku
Apply classic sudoku rules. Each marked diagonal must also contain each digit from 1-9 exactly once.

Example Solution
6/1 2|7 5 4|9 3 8
6 9 8 3/7 5|6 9 8|4 2 1
413 1|6 89 4|32 1|6 5 7
6 3 2 1 9|6 3|8 /47|12 1 5
S 8 4|5 1|9 3 2|7 8 6
2 8 3 4 712 8165|349
als' 3|1 218 9|5 7/ 3|1 6 4
2 86 14 7|2 8 6|5 9.3
5/3 6]4/1/9]|8 7 2
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7 Irregular Sudoku
Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 9-cell
region contains each digit exactly once.

Example Solution

2 9 1 8 274[57977 1]6[378
7 3 5 8|7 9|2 3 4]/1/5 6
3 2 6|5 3 1|8[7]2 9|4

9 7 |3 2 ol1]6[7 5 3l4[8 2
3 7 413 8l6 9 2[5 7 1

5 4 8 9 512714 1 8[3]6 9
4 8 719 4 5]|2|6/8 1]3
8 6 4 1/8 2[3 6 5|9 4|7

3 8 9 5 3/6[1/8 4 9[7]2 5

8 Extra Regions Sudoku
Apply classic sudoku rules. Each of the shaded regions must also contain each digit from 1-9 exactly
once.

Example Solution
4 2136|8795 4 1
9 4 5 7 9/4|/5[(2/1/3|8 7 6
6 9 8 7/1|6|4|5|3 9 2
3| |4 712/8[1/3/6|4/5 9
5 82 1/9/4|5/8/2|6 3 7
3] 9 6/5(3|7/9|4]|2/1 8
1 3/6/2|9/5/1|7 8 4
1 9|23 5/1/7|4/6/8]9 2 3
4/8(9]3|2/7|1 6 5
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9 Quad Sums Sudoku

Apply classic sudoku rules. A circle at a corner implies that one digit is the sum of the remaining three
digits at that corner. Not all possible dots are given; four digits sharing a corner without a circle may
contain one digit which is the sum of the remaining three digits.

Example Solution

7|2 116] T8]9 71215]411]6]3]8]9
3|4 sl 7| (216 3/4l9]5l8]7|1]2]6
6/8/1|213/9]4|5]|7

L 9 PA ®
59 5/9l4[117]3]2]6]8
2|6 4 113 2le6l8lolal5|7]1]3
415 11713[8/6/2]9]4]5

@ & ® ®
sl5l/2[3l9]1]6]7]4
413 |72 9| 1 4|3/6|7/2/8|5/9]1
9/1] |65 32 ol11/7]6l5/4|8]3]2

10 Prime Sums Sudoku
Apply classic sudoku rules. A dot means that the sum of the digits in the two neighbouring cells is a
prime number. All possible dots are given.

Example Solution
. |8, 113]6]815(7]2]4+9
al 1D 548|216/ 9[7]3]1
? IR ‘ 9+27[113%4|8645
1N I 3/6+5[9]7]8]112]4
RN K ] 8|7/2{34441|5]/9]6
MR S 8 419/ 716]215|3]7 8
71114|5/0/3[6/8 2
NENNEENE 245 3{4]8]6|9]17
KN NEY 6 8:9|7 142453
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11 Divisible by Three Sudoku

Apply classic sudoku rules. Inside each 3x3 box all sums created by three horizontally or vertically
adjacent digits must be divisible by 3.

Example

12 Sum or Product Killer Sudoku
Apply classic sudoku rules. The number in each cage shows either the sum or the product (or both)
of all digits inside the cage. Digits may be repeated within a cage.

Solution
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13 Braille Sudoku
Apply classic sudoku rules. The dots given inside some cells form part (or all) of the Braille
representation of the digit.

Example Solution
416(712/3[1/5/8]9
5/8(914/6|7(2]3]|1
213/115/8(9(4|6|7
6|7/418/9|5(3|1|2
8/9/5|13|1]2|6|7|4
311216714895
9/5/8|7|4|6(1/2]|3
112/3[(9/5|8|7/4|6
714|611/2]3(9|5|8
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